
Dept. Technical reference Created by Approved by

Document type Document status

Title DWG No.

Rev. Date of issue Sheet

BOM MASTER

12/06/2022

1/1
Ford Ranger Tub Side Panel
MR-TP-SETRAN-1 

Ben Sexton

BOM MASTER:
1 X MR-TP-RAN-1-RP
1 X MR-TP-RAN-1-FP
1 X MR-TB-MID-1
1 X MR-TB-F-1
1 X MR-TB-R-1
12 X M8X25 SS304 Button Head Bolt
12 X M8X25 SS304 WASHER
8 X M8 SS304 Flange Nut
12 X M4X20 SS304 Button Head Bolt
12 X M4 SS304 Dome Head Nut
12 X M4 SS302 Washer


	Sheets and Views
	Sheet1


